BQ198.0296
. opresor M3X4
~ Z000011 10971

! -
’

]

[




BQ198.0297

Opresor
3.9x 3.8 (M4 X 4)




BQ198.0298

Set screw M4x6
~ Tornillo M4x6
__Z000011 10979




BQ198.0299

Opresor
7.8 x 4.7 (M5 X 8)




BQ198.0300

Opresor
7.8x7.8 (M8 X38)




BQ198.0301

-

-
*—
ol
g
—
-

T

e
e




